1. db)9) 9 uwl)fﬁS OYlso U.oa.oaa.t)ii:b lS.;..b 9w
lg..d.) dlaos ¢ | We Resp e 1| he Science
e CIVILICALT:osni (O CIVILICA

tdldo (ylgic
(633¢ (5099w G (yg) jl e3latiawl b )b L] (Gl (yliaygid (55)9UisS (LKL dwgs (g 423 (el

:)Li’».‘i.’:l‘ho

23 :dlio Jol Olxdwo dlass

Cudbdgpo doly (olwl ST 0lSdiils (g jygliss dlaibl 09,5 Luils - (Gomwge Al Caam)duw

Cuddgpo Aolg (soMawl ST o Liiils 6y LS dbaidl i)l (suwlic) 5 (ggmaiils - Liwg) y3g0l

Cuiddgpo A2y (solw! .)/j/—oqu"U/.) Sirolis slaib] Ayl (Lwlids) 5 (s9zdiils - (65)9WinS (lasdw

:dllio duoS

9 LIS 395 digej Al > &lg )3 9 s Py O alizxo Gblio ) dihaio S (5j)sliS iy XBL dzwgl alaw logec
9 Sl djlw (50 3 3L Vlizl dihio S Gleddy ole 3 1) GKIBL dzwgl Wg) adlllae )96 sl (pal .3)95u0 i 4 S
& asu0g5 g (Sj) welp 3y T8 )5 pl8 (i alize @blio (il auwgs Zobw sl T (2 3 9  (RLlgT § DLl ()
0% Jl 0B Ll o Ly (55)9liS (SBL aswgi okw Hmel dlie Gl GIS Bav 39 (0 )led 4 Gible Gaie2
o3kl il (glo Hliwyesd (g3 a) s Gl ol YaST0 I Bao ol 4 (RL Cuwd Gy - Cunl ($33¢ (ogiguS
20 . 2ol Cuwd 4y 1386- 1382 (slo Jlw (g)lol (g 4l Jo g Ll (55)9LinS (6 b aolylol jl aellno ¢l wlelbl g Lol . 1,33,5
VL 5B 2wyl (5 az)d Liliwydd )03 @ Cund lagw 9 gee Oliw)l areyS (5 W (liwgd oS 1> YL agllhe o)l
Oliuyedh @2 Cuud (5392 0500l Cale dy 55 Jiadhd (liuygdd 3515 (658l (5 45) 02))59x8 9 30 19} (Sledlinoygid 9 31>
gaiae 0315 Calizen (gloslinn g (6j)gliS b (se=uwgs (gl (s2lo) Kl Colgs 53 .303,5 Bis s s b

:‘S.).\ls" SlalS

FSabigaw 0540 3 dlie gl S
https://civilica.com/doc/763166



https://civilica.com/doc/763166

